ALLSTAR Tire Prep Stand

ASSEMBLY

PERFORMANCE

Contents List:

A. Main Upright With Pivoting Head (x1)

B. Rear Straight Leg (x1)

C. Front "V" Leg (x1)

D. Wheel Mounting Plate (x1)

E. Shaft With Flange (x1)

F. Base Connector (x1)

G. T-handle (x1)

H. 5/8"-11 x 2" Wheel Mounting Bolts With Nuts (x5)
l. 3/8" x 2-1/2" Base Bolts With Nuts (x3)

J. 1/4" x 1" Wheel Plate Mounting Bolts With Nuts (x3)
K. Shaft Retainer Pin (x1)

1. Assemble Front "V" Leg (C) and Rear Straight Leg (B) to Base Connector (F) using (2) 3/8”x 2-1/2" Base
Bolts and Nuts (I). When bolting legs to Base Connector, note brackets are welded onto legs at an angle
which raise the Base Connector off the ground allowing stand to be supported by all three legs.

2. Place Main Upright (A) into Base Connector (F) so wheel assembly will be over Front "V" Leg as shown in
IMAGE 1 and fasten with remaining 3/8” x 2-1/2" Bolt and Nut (I).

3. Install the Shaft With Flange (E) into the center hole of Wheel Mounting Plate (D) and bolt together using
(3) 1/4"x 1”Wheel Mounting Plate Bolts and Nuts (J).

4. Install Shaft with Wheel Mounting Plate into Main Upright as shown in IMAGE 2.

5. Install Shaft Retainer Pin (K) into the back of Shaft (E).

6. Install T-Handle (G) into the top of the head unit.

7. |Install the (5) Wheel Mounting Bolts (H) into Wheel Mounting Plate (D). Use outer holes for use with
Wide 5 pattern wheels or the inner holes when using 5x5 pattern wheels. :

ASSEMBLED
UNIT

AN

IMAGE 1 IMAGE 2

Allstar Performance 8300 Lane Dr., Watervliet, Ml 49098
Phone: (269) 463-8000 Fax: (800) 772-2618 www.allstarperformance.com

Form 1071 Page 1 of 1 Rev. 121208

Find out more about automotive tools we have.


https://www.carid.com/automotive-tools.html
https://www.carid.com/allstar-performance/



